
ASSEMBLY INSTRUCTIONS. 

 

GEORGIA CONSOLE TABLE AGED BROWN

 

FR-1040-20

T H A N K Y O U F O R Y O U R P U R C H A S E !



sure to check all packing material carefully for 
small part that may have come loose inside the
carton during shipping.

The item is heavy, assembly should

TS AND HARDWARE. STEP 1.

Thank you for purchasing this quality product! Be

be performed by two people.

STEP 2.PAR

NOTES.

CAUTION: 

STEP 4.STEP 3.

DESCRIPTION IMAGE Q’TY

12

16

H1

H2

H3

NO.

SPRING WASHER M8

BOLT M8 x 60

WASHER M8

H4 ALLEN KEY M4

H5 BOLT M8 x 80 4

16

1

P2

DESCRIPTION IMAGE Q’TYNO.

 1P1 TABLE TOP 

 2P3 LEGS 

1P4  TOP RAIL 

1P5  BOTTOM RAIL 

P3

P4

P1

H4

H1
H2

H3

H4

H5

H2

H3

H4

H3

H2

H1


	Page 1
	Page 2

